4.5 Review questions
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1. Do aII reactions between two chemicals result in a complete reaction in such a way that all the reactants are
consumed and turn in to products? Explain.  N© ,  €XCE€SS [, {'mcg

4.6 Review Questions

9 What do we call the chemicals that remain unreacted following a chemical change?

excess yeactuats
3. What is the percentage yield of areaction?
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4. Are all reactants in a chemical reaction completely pure? How might this affect a stmchlometry calculation?
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A saturated solution-of lithium fluoride, which is sometimes used as a rinse to prevent tooth decay, contains
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_6/?bcutomotwe air bags inflate when solid sodium azide (NaN, ) decomposes explosively into its constituent elements.

P .

N 4 Whht volume of nitrog Nir:egas is, formed if 120 Mmre sodium azide decomposes? Assume STP conditions.
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7. . Silver nitrate and alumlnum chloride react with each other by exchanging anions:

3 AGNO,(ag) + AICk(ag) — AIINO,),(ag) + [3 AgClis “I(s) |
* What mass of precipitate is produced when 4.22 g of siiver nitrate react with 7.73 g of aluminum chioride in

solution?
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is synthesized in the reaction: GeH, + 3 GeF, — 4 GeF;H. If the reaction yield is 91.5%, how many moles of

4,124 AgNO

,éj What is the maximum mjs;%iphur trioxide gas that can be formed from the tombinatimf S5y
solid with O, gas? Begin with a balanced equation.
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magnesium chloride solution to produce §,

eprecipitateisonly?S.O%pure,asitis () _ (7“

i following filtration. in with d ion. A4(NO- i y

still damp following filtration Begin with a balanced equation - , On A — I §C_L_"Z_“":(5{L\O})a
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12. What mass of silver could be formed if a large zine wire is placed in a beaker co
silver nitrate and allowed to react overn
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ntaining 145.0 mL of 10.095 mol/L
ight? Assume the reaction has a 97% yield. : v
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@ 8.92 g of indium oxide is reacted with an excess of water and forms 0.1 g of base. What is the percent yield? Y. 8
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14, What volume of chlorine gas could be produced under STp conditions if

39.8 g of 84.0% pure potassium chicride
e td=-lUm Cnloride
were reacted with an excess of fluorine gas? S
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